. Which statement describes a multiple covalent bond?

A) Two electrons are shared.
B) Four electrons are shared.
C) Two electrons are transferred.
D) Four electrons are transferred.

. What is the total number of electrons shared in a
double covalent bond?

A) 1 B) 2 C) 3

. Given a formula for oxygen:
:0=0:

What is the total number of electrons shared between

the atoms represented in this formula?

A) 1 B) 2 ) 8 D) 4

. As a bond between a hydrogen atom and a sulfur
atom is formed, electrons are

D) 4

A) shared to form an ionic bond

B) shared to form a covalent bond

C) transferred to form an ionic bond
D) transferred to form a covalent bond

. What is the total number of electrons shared in the
bonds between the two carbon atoms in a the
molecule shown below?

H—C=C—H

A) 6 B) 2 03 D) 8

. Which compound contains only covalent bonds?
A) NaOH B) Ba(OH)2

C) Ca(OH)2 D) CH3OH

. Which type of chemical bond is formed between two
atoms of bromine?

A) metallic
C) ionic

B) hydrogen
D) covalent

. Which formula represents a compound that is formed
primarily by sharing electrons?

A) KCl B) CaClz
C) CrCls D) CCls

. In which compound do atoms form bonds by sharing
electrons?

A) H20 B) Na2O C) CaO D) MgO

10.

11.

12.

13.

14.

15.

16.

Which pair of atoms will share electrons when a
bond is formed between them?

A) Baand I B) Brand Cl
C) Kand Cl D) Liand I

Which atoms are most likely to form covalent
bonds?

A) metal atoms that share electrons

B) metal atoms that share protons

C) nonmetal atoms that share electrons
D) nonmetal atoms that share protons

Which type of bond is formed between the two
chlorine atoms in a chlorine molecule?

A) polar covalent B) metallic

C) nonpolar covalent D) ionic

Which combination of atoms can form a polar
covalent bond?

A) Hand H
C) Nand N

Which type of bond is present in a water molecule?

B) H and Br
D) Na and Br

A) polar covalent
C) ionic

B) nonpolar covalent

D) electrovalent

Which molecule contains a polar covalent bond?

A XX oo B .
) : ) HxH

0 D) :NZN

What type of bond exists in a molecule of hydrogen

iodide?

A) a polar covalent bond with an electronegativity
difference of zero

B) polar covalent bond with an electronegativity
difference between zero and 1.7

C) anonpolar covalent bond with an
electronegativity difference of zero

D) a nonpolar covalent bond with an

electronegativity difference between zero and
1.7




17.

18.

19.

20.

21.

22.

Which electron-dot diagram represents a molecule
that has a polar covalent bond?

A) H)?é;]: B) Li+[§§1:]_
C) ee XX D)

K* [sois] -

SOl

The bonds between hydrogen and oxygen in a water
molecule are classified as

A) polar covalent B) nonpolar covalent
C) ionic D) metallic

Which substance is correctly paired with its type of
bonding?

A) NaBr-nonpolar covalent

B) HCl-nonpolar covalent

C) NHs—polar covalent

D) Br>—polar covalent

Which electron-dot formula represents a molecule
that contains a nonpolar covalent bond?

A) xx .. B) .-
XBr % Br: HZ* Br:

XX
C) = D) oxx
Na+ X F ;(( H?T Fx
XX XX

Which molecule contains a nonpolar covalent bond?

A) H xl\yl(x H B) H xCl
H

©) Hiaz D)
°X HxH
H

Which type of bond is formed between the carbon
and oxygen atoms in a CO2 molecule?

A) nonpolar covalent B) polar covalent
C) ionic D) electrovalent




23. A chemist performs the same tests on two homogeneous white crystalline solids, 4 and B. The results
are shown in the table below.

Solid A Solid B
Mehting Point High, 801°C ;f:“égféﬂmpﬂses
;Sgc:iaunbw:“;;? 1650 gH,0atoc) | 37 32
E:fgg:f:éi{):g ngtg? Good conductor Monconductor

The results of these tests suggest that

A) both solids contain only ionic bonds

B) both solids contain only covalent bonds

C) solid 4 contains only covalent bonds and solid B contains only ionic bonds
D) solid 4 contains only ionic bonds and solid B contains only covalent bonds

24. Which electron-dot formula represents a substance
that contains a nonpolar covalent bond?

A) XX
[Nal"[xC %]
B) XX, e C) o« XX
gjoi 7 onigh
D) o0
' eOx H
H

25. Which substance contains nonpolar covalent bonds?

A) Ha B) H:20
C) Ca(OH): D) CaO




